
STAAR Spring 2024 Grade 8 Math Answer Key 
  

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number 
of Points 

Correct 
Answer(s) 

Reporting 
Category 

Readiness 
or 

Supporting 

1 Multiple 
Choice 8.3.7.A 1 A 3 Readiness 

2 Multiple 
Choice 8.1.2.D 1 B 1 Readiness 

3 Multiple 
Choice 8.2.5.G 1 A 2 Readiness 

6 Multiple 
Choice 8.3.3.A 1 D 3 Supporting 

7 Multiple 
Choice 8.4.12.C 1 D 4 Supporting 

8 Multiple 
Choice 8.3.7.B 1 B 3 Readiness 

11 Multiple 
Choice 8.2.4.B 1 B 2 Readiness 

12 Multiple 
Choice 8.3.6.A 1 C 3 Supporting 

13 Multiple 
Choice 8.2.5.F 1 B 2 Supporting 

14 Drag and 
Drop 8.3.8.D 2 

120°, 60°, 
60° 
See 

Appendix 
1.3 

3 Supporting 

15 Multiple 
Choice 8.2.4.C 1 C 2 Readiness 

16 Multiple 
Choice 8.4.12.D 1 A 4 Readiness 





35  
Multiple 
Choice  

8.3.10.C  1 D 3 





1.3  

 

    

  

The figures shown each have a set of parallel lines intersected by a tran sversal. 

1/ 
42° 30° 

y 

Based on the figures, what are the measures x n



1.4  

 

1.5  

 

  

A figure on the coord inate plane is t ransformed to create a new figur-e. 

Determ ine whet her each t ransfor mation preserves or does not preserve congr uence. 

Select the cor rect answer in each row . 

A reflection across t he y-axis 

A rotat ion of 180° counterclockw ise with the origin as t he 
center of rotation 

A d ilation by a scale factor of 0.5 w ith the or-igin as the 
center of dilat ion 

A segment is graphed on the grid. 

y 

- 5 

t 

Preserves 

Congruence 

D 

+ 

Does Not Preserve 

Congruence 

D 

D 

Points will be plotted on the grid w ith the segment to show y as a function of x. Which ordered pairs can be added 
to the grid to show y as a function of x? 

Select TWO correct answers. 

ca (3, - 6) 

D ( - 1,6) 

D (1, - 6) 

D (o, 2) 

Cil ( - 2, 4) 



1.6  

 

1.7  

 

 

  

A diagram of a toy box is shown. I ts measurem ents are given in inches. 

30 in. 

34 in. 

40 in. 

What is the total surface area of the toy box in square inches? 

Enter your answer in the space provided. 
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1.8  

 

1.9  

 

Determine whether t he triangle w it h each set of side lengt hs is a right t r iangle or not a rig ht triangle. 

Move the cor rect answer to each box in the table . Each answer m ay be used more t han once. ay . 
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